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a) EIERREST (HP1<2P2)

(P1-P2)

Q=5.26*Cg*(P1+Pa)*sin[ 93.5*, |——— — ] Deg

b) IERKE (& P1 = 2 P2)
Q=5.26*Cg*(P1+Pa)

(P1+Pa)

AC10, 823 Nm*h, %S

588

Q=R=E [Stm?3/h]
P1 = LiFERE [MPa]
P2 = Fiif%E [MPa]
Pa = XS5&E [MPa]

. HOEA (bar)
#0E (bar) 0.5 0.7 1 1.5 2 25 3 4
1 100 9 - - - - - -
15 130 130 120 - - - - -
2 160 170 160 120 - - - -
3 240 260 220 240 220 200 - -
4 300 340 320 340 320 260 240 -
5 380 440 460 400 420 420 380 330
V10 6 520 500 500 520 500 520 460 430
8 620 650 650 700 650 650 650 600
10 670 700 800 850 850 900 800 800
12 650 750 850 950 1000 1000 1000 1000
14 680 750 900 1100 1200 1200 1200 1200
16 650 750 900 1100 1200 1400 1300 1400
AC10, 8% Nm/h, RS
. HOEA (bar)
#RED (bar) 0.5 0.7 1 1.5 2 2.5 3 4
1 120 90 - - - - - -
15 130 130 150 - - - - -
2 190 200 200 180 - - - -
3 340 300 280 260 260 210 - -
4 440 400 420 400 380 340 280 -
5 560 560 580 460 480 480 420 370
V120 6 700 700 700 700 650 650 600 550
8 750 800 900 750 900 900 850 800
10 750 800 1000 1100 1100 1100 1100 950
12 700 800 1000 1200 1300 1300 1300 1300
14 700 850 950 1200 1400 1500 1500 1500
16 750 850 1000 1300 1500 1700 1700 1800
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